CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT ACTIVITIES MARCH 25, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-0800-1341-535-4)

| Brillhart, Sarah | Nolen, Emily |
|------------------|----------------|
| Capranica, Amy | Punke, Lindsay |
| Daley, Melinda | |

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 26, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Capranica, Amy

Hustedt, Isaac

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 14, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

> Capranica, Amy Foster, Carmelita

Hustedt, Isaac

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 20, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Capranica, Amy

Hustedt, Isaac

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING APRIL 9, 2024, \$35.57 PER HOUR: (10-2210-6431-1341-481-4)

| Haage, Leanne | 1.50 hours | \$53.36 |
|---------------------|------------|---------|
| Justison, Mildred | 1.50 hours | 53.36 |
| Lacamera, Kathryn | 1.50 hours | 53.36 |
| Lamontagne, Kristin | 1.75 hours | 62.25 |
| Tolsdorf, Kathleen | 1.50 hours | 53.36 |

 VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 20, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0800-1341-535-4)

> Baldin, Jennifer Brillhart, Sarah

Punke, Lindsay

 VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 13, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0800-1341-535-4)

> Baldin, Jennifer Brillhart, Sarah

Punke, Lindsay

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 6, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0800-1341-535-4)

> Baldin, Jennifer Brillhart, Sarah

Punke, Lindsay

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES FEBRUARY 28, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

| Blankenship, Christie | Kahl, Lindsay |
|-----------------------|---------------|
| Hendon, Wendy | Nolen, Emily |

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES FEBRUARY 14, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

| Blankenship, Christie | Kahl, Lindsay |
|-----------------------|---------------|
| Hendon, Wendy | Nolen, Emily |

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 14, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

| Blankenship, Christie | Kahl, Lindsay |
|-----------------------|---------------|
| Hendon, Wendy | Nolen, Emily |

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES MARCH 26, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0900-1341-535-4)

| Biggs, Brian | Garman, Jeffrey |
|-----------------|------------------|
| Craig, Jonathon | Lenhardt, Kyle |
| Freeman, Tina | Selsor, Michelle |

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MARCH 25, 2024, \$35.57 PER HOUR: (10-2210-0900-1341-535-4)

| Biggs, Brian | 1.50 hours | \$53.36 |
|-----------------|------------|---------|
| Horstman, Laura | 1.25 hours | 44.46 |

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 21, 2024, \$35.57 PER HOUR: (10-2210-1300-1341-531-4)

| Buske, Sierra | 2.00 hours | \$71.14 |
|--------------------|------------|---------|
| Cantrell, Kenda | 4.00 hours | 142.28 |
| Cripe, Jill | 4.00 hours | 142.28 |
| Davis, Robin | 2.00 hours | 71.14 |
| Hummert, Julie | 4.00 hours | 142.28 |
| Lafountain, Taunja | 4.00 hours | 142.28 |
| Madonia, Melinda | 4.00 hours | 142.28 |
| Mceuen, Molly | 4.00 hours | 142.28 |
| Robinson, Sarah | 4.00 hours | 142.28 |
| Vespa, Darci | 4.00 hours | 142.28 |
| Vogt, Denise | 4.00 hours | 142.28 |
| Wiseman, Melissa | 4.00 hours | 142.28 |
| | | |

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES MARCH 6, 2024, \$35.57 PER HOUR: (10-2210-1300-1341-531-4)

| Cantrell, Kenda | 1.00 hours | \$35.57 |
|--------------------|------------|---------|
| Cripe, Jill | 1.00 hours | 35.57 |
| Hummert, Julie | 1.00 hours | 35.57 |
| Lafountain, Taunja | 1.00 hours | 35.57 |
| Madonia, Melinda | 1.00 hours | 35.57 |
| Mceuen, Molly | 1.00 hours | 35.57 |
| Vogt, Denise | 3.00 hours | 106.71 |
| Wiseman, Melissa | 1.00 hours | 35.57 |

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW AVID PLANNING ACTIVITIES JANUARY 29, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4331-1341-534-4)

| Brady Hanken, Kathleen | Logsdon, Thomas |
|------------------------|---------------------|
| Detmers, Erica | Williams, Kauntessa |
| Kincaid, Jessica | |

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW AVID PLANNING ACTIVITIES FEBRUARY 27, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4331-1341-534-4)

| Brady Hanken, Kathleen | Logsdon, Thomas |
|------------------------|---------------------|
| Harris, Nicolette | Williams, Kauntessa |
| Kincaid, Jessica | |

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL AVID PLANNING ACTIVITIES FEBRUARY 27, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4331-1341-534-4)

> Allen, Devynn Allen, Laura Anderson, Michael Cookson, Lelah Fagbiye, Tamolyn Hodapp, Brad

Hunsley-Hunt, Stephanie Iaiennaro, Trisha Jackson, Terrelle Leopold, Jessica Redfield, Alicia XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SPECIAL EDUCATION ACTIVITIES JANUARY 29, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4331-1341-534-4)

> Ginsberg, Rachel Kelber, Lisa

Thomas, Sarah

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 1, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3800-1341-535-4)

> Acker, Allison Lantz, Andrew Bavetta, Kristin Lee, Sabrina Burke, Evan Mitchell, Shanna Campbell, Melissa Murphy, Melissa Dennison, Jennifer Nestler, Tena Dunn, Andrea Owens, Kimberly Durbin, Lori Parkinson, Vanessa Finney, Elizabeth Parks, Victoria Freeman, Cynthia Piper, Riley Greenfield, Darrin Roark, Heather House, Mikaila Shepherd, Tosha Jones, Theresa Stoll, Nicole King, Courtney Woodside, Alexis Langen, Natasha

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MARCH 26, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4400-1341-535-4)

Benoit, Claire

Coons, Roanna

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FAIRVIEW CO-TEACH COLLABORATION MARCH 27 THROUGH APRIL 10, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

| Capranica, Amy | 1.00 hours | \$35.57 |
|------------------|------------|---------|
| Ciotti, Jennifer | 1.00 hours | 35.57 |
| Fox, Kathleen | 1.00 hours | 35.57 |
| Hustedt, Isaac | 2.00 hours | 71.14 |

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL AVID PLANNING ACTIVITIES FEBRUARY 26, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4331-1341-534-4)

> Allen, Devynn Allen, Laura Anderson, Michael Cookson, Lelah Fagbiye, Tamolyn Hodapp, Brad

Hunsley-Hunt, Stephanie Iaiennaro, Trisha Jackson, Terrelle Leopold, Jessica Redfield, Alicia

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES FEBRUARY MEDICAID BILLING ACTIVITIES MARCH 25, 2024, \$66.93 PER HOUR, 2 HOURS FOR A TOTAL OF \$133.86: (10-2210-6220-1342-000-0)

Dwyer, Rachael

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES OCTOBER & NOVEMBER MEDICAID BILLING ACTIVITIES OCTOBER 5, 2023 THROUGH MARCH 25, 2024, \$63.34 PER HOUR, 8.75 HOURS FOR A TOTAL OF \$554.23: (10-2210-6220-1342-000-0)

Blackwood-Lee, Michelle

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES DECEMBER & MARCH MEDICAID BILLING ACTIVITIES MARCH 21 THROUGH MARCH 27, 2024, \$45.21 PER HOUR, 10 HOURS FOR A TOTAL OF \$452.10: (10-2210-6220-1342-000-0)

Kinkade, Taylor

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES MARCH MEDICAID BILLING ACTIVITIES MARCH 1 THROUGH APRIL 9, 2024, FOR RATE SPECIFIED : (10-2210-6220-1342-000-0)

| Baker, Audrey | 4.00 hours | \$40.97 Per Hour | \$163.88 |
|--------------------|------------|------------------|----------|
| Brinkmann, Kristen | 5.00 hours | \$62.15 Per Hour | 310.75 |
| Clark, Abigail | 5.00 hours | \$53.68 Per Hour | 268.40 |
| Clark, Michelle | 4.25 hours | \$75.75 Per Hour | 321.94 |
| Corley, Elizabeth | 5.00 hours | \$66.93 Per Hour | 334.65 |
| Deatherage, Debra | 5.00 hours | \$65.25 Per Hour | 326.25 |

| Medicaid Billing | Activities March | 1 Through April 9 | , 2024, For Rate S | pecified, cont. |
|------------------|------------------|-------------------|--------------------|-----------------|
| | | | | |

| Farley, Nicole | 5.00 hours | \$53.68 Per Hour | 268.40 |
|-------------------------|------------|------------------|--------|
| Fenstermacher, Lori | 5.00 hours | \$75.75 Per Hour | 378.75 |
| Foster, Jennifer | 4.00 hours | \$56.52 Per Hour | 226.08 |
| Groesch, Erica | 3.00 hours | \$75.75 Per Hour | 227.25 |
| Hummel, Emily | 5.00 hours | \$66.93 Per Hour | 334.65 |
| Kim, Whitney | 5.00 hours | \$75.75 Per Hour | 378.75 |
| Marcum, Stacie | 3.75 hours | \$56.52 Per Hour | 211.95 |
| Mcdaniel-Norton, Stacey | 3.50 hours | \$74.69 Per Hour | 261.42 |
| Moore, Carolyn | 3.50 hours | \$64.98 Per Hour | 227.43 |
| Naumovich, Amanda | 5.00 hours | \$70.42 Per Hour | 352.10 |
| Plunkett, Cara | 5.00 hours | \$53.68 Per Hour | 268.40 |
| Reitz, Laura | 5.00 hours | \$64.98 Per Hour | 324.90 |
| Roe, Katie | 5.00 hours | \$72.55 Per Hour | 362.75 |
| Rouland, Jill | 3.75 hours | \$63.57 Per Hour | 238.39 |
| Sanberg, Kathryn | 5.00 hours | \$49.66 Per Hour | 248.30 |
| Sapetti, Camryn | 2.25 hours | \$42.38 Per Hour | 95.36 |
| | | | |

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION WEBSITE DEVELOPMENT APRIL 3, 2024, FOR RATE SPECIFIED : (10-3900-6120-1341-000-0)

| Johnson, Victoria | 5.50 hours | \$42.03 Per Hour | \$231.17 |
|-------------------|------------|------------------|----------|
| Wyman, Mary | 5.50 hours | \$37.95 Per Hour | \$208.73 |

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION TEACHING AND LEARNING SYMPOSIUM APRIL 10, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

| Bartletti, Jennifer | Lafountain, Taunja |
|------------------------|--------------------|
| Bennett, Janene | Ligon, Tierra |
| Billington, Leah | Lochbaum, Stacey |
| Blankenship, Autumn | Logsdon, Alicia |
| Brady Hanken, Kathleen | Logsdon, Thomas |
| Broussard, Karveta | Londrigan, Amanda |
| Buyze, Margaret | Lueking, Mary |
| Campbell, Melissa | Mack, Jeanie |
| Cantrall, Cassandra | Maggiore, Michelle |
| Capps, Gail | Mahinda, Stacy |

Teaching And Learning Symposium April 10, 2024, \$35.57 Per Hour, 2 Hours Each, cont.

| Coble, Bryan | Maley, Sarah |
|----------------------------|-----------------------|
| Comerford, Janel | Martin, Bailey |
| Cox, Heather | Martin, Colleen |
| Cripe, Jill | Mccarthy, Caitlin |
| Crow, Cynthia | Miller, Holly |
| Crum, Milena | Mitchell, Natalie |
| Crumrine, Carrie | Mitchell, Shanna |
| Dabbs, Kathryn | Moore, Lori |
| Davis, Lacy | Morrison, Alexis |
| Deaton, Robert | Neely, Gail |
| Denzin, Rachel | Nicholas, Kelly |
| Detmers, Erica | Niemeyer, Cara |
| Dickman, Barbara | Nolting, Jenny |
| Divjak, Leann | Padavic, Julie |
| Drennan, Emily | Parkinson, Vanessa |
| Ethridge-Galloway, Tiffany | Phillips, Suzanne |
| Faloon, Aidan | Poe, Sarah |
| Freeman, Tina | Poppenhouse, Leslie |
| Garman, Jeffrey | Poss, Nichole |
| George, Cynthia | Punke, Lindsay |
| Gephart, Suzanne | Quarton, Lori |
| Gibbs, Katie | Riech, Allison |
| Gilbert, Rachel | Rodden, Katelynn |
| Gray, Nicole | Rogers, Chenoa |
| Greig, Anne | Rudd, Lindsey |
| Guikema, Lindsay | Rudin, Rebecca |
| Hardy, Angela | Schatz, Katie |
| Harness, Amanda | Scheffers, James |
| Harris, Nicolette | Schoedel, William |
| Harris, Sherry | Schoppenhorst, Debbie |
| Hasquin, Jamie | Schukai, Melissa |
| Hayes, Robert | Scott, Dawn |
| Hockenyos, Karen | Sekardi, Maria |
| Hodapp, Brad | Sheraden, Catherine |
| Hoffman, Julie | Stewart, Pamela |
| House, Elizabeth | Stewart, Shelley |
| Hunsley-Hunt, Stephanie | Suerdieck, Cristina |
| | |

Teaching And Learning Symposium April 10, 2024, \$35.57 Per Hour, 2 Hours Each, cont.

| Israel, April | Taylor, Leslie |
|-----------------|---------------------|
| Johnson, Rachel | Terrell, Temary |
| Jones, Theresa | Totura, Jessica |
| Jurgens, Mary | Walters, Amy |
| Kaiser, Aimee | Williams, Kauntessa |
| Kent, Jena | Wollet, Jill |
| Kincaid, Carrie | Zaffiri, Alise |
| Kircher, Megan | Zimmers, Layne |
| Kurz, Amy | |

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL AND HIGH SCHOOL MATH DEPARTMENT CHAIR MEETING APRIL 15, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

| Bradley, Rechad | 1.25 hours | \$44.46 |
|-----------------|------------|---------|
| Hayes, Latausha | 1.00 hours | 35.57 |
| Horstman, Laura | 1.00 hours | 35.57 |
| Myers, Erin | 1.25 hours | 44.46 |
| O'Bryen, Sheila | 1.25 hours | 44.46 |
| Womble, Ashley | 1.00 hours | 35.57 |

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION NEW TEACHER YEAR 2 FORUM #5 APRIL 11, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

| Altadonna, Lydia | Kircher, Megan |
|--------------------|--------------------|
| Anderson, Michael | Lanter, Adam |
| Chamberlain, Cole | Mcvey, Zachary |
| Daley, Melinda | Riedle, Lindsey |
| Erickson, Carlie | Scheffers, James |
| Floyd, Alaxandria | Schwappach, Hayley |
| Gilchrese, Tia | Standley, Emily |
| Gilmore, Elizabeth | Volk, Rachel |
| Groth, Christine | Woodside, Alexis |
| Johannes, Madison | |

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR MATHENY/WITHROW AVID PLANNING ACTIVITIES FEBRUARY 27, 2024, \$37.95 PER HOUR, 1 HOUR FOR A TOTAL OF \$37.95: (10-2210-4331-1341-534-4)

Morris, Michelle

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES MARCH MEDICAID BILLING ACTIVITIES MARCH 26, 2024, \$45.39 PER HOUR, .5 HOURS FOR A TOTAL OF \$22.70: (10-2210-6220-1342-000-0)

Blakley, Jennifer

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING APRIL 9, 2024, FOR RATE SPECIFIED : (10-2210-6431-1360-481-4)

| Dickerson, Latasha | 1.50 hours | \$21.14 Per Hour | \$31.71 |
|--------------------|------------|------------------|---------|
| Rockford, Jean | 1.25 hours | \$32.05 Per Hour | 40.06 |

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION TEACHING AND LEARNING SYMPOSIUM APRIL 10, 2024, FOR RATE SPECIFIED : (10-2210-0000-1341-564-4)

| Austin, Anijhai | 2.00 hours | \$26.78 Per Hour | \$53.56 |
|------------------|------------|------------------|---------|
| Boggs, Stacia | 2.00 hours | \$24.65 Per Hour | 49.30 |
| Daniels, Kendra | 2.00 hours | \$26.78 Per Hour | 53.56 |
| Gannar, Michelle | 2.00 hours | \$37.95 Per Hour | 75.90 |
| Hay, Corrie | 2.00 hours | \$32.62 Per Hour | 65.24 |
| Morris, Michelle | 2.00 hours | \$37.95 Per Hour | 75.90 |

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SANDBURG ELEMENTARY SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, EFFECTIVE AUGUST 21, 2023, \$35.57 PER HOUR (23-24): (10-1100-0000-1341-498-4)

McQuality, Dixie

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR MATHENY/WITHROW AVID PLANNING ACTIVITIES JANUARY 29, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14: (10-2210-4331-1341-534-4)

Morris, Michelle

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC SCHOOL INTERVENTION ACTIVITIES FEBRUARY 29 THROUGH APRIL 11, 2024, \$32.26 PER HOUR, 17 HOURS FOR A TOTAL OF \$548.42: (10-3700-0000-1243-531-4)

Schrenk, Nancy

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES APRIL 9 THROUGH APRIL 11, 2024, \$32.26 PER HOUR, 10 HOURS FOR A TOTAL OF \$322.60: (10-3700-0000-1243-531-4)

Lamsargis, Kathy